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QUESTION 1

During peak times, users are unable to access their online wealth management applications in a timely fashion. The
online banking application resides in a community cloud environment. Which of the following explains how the cloud
systems administrator should start to resolve this issue?

A. Access the cloud services portal and ensure memory ballooning is enabled.

B. Access the cloud services portal and ensure there is adequate disk space available.

C. Access the cloud services portal and ensure all users are accessing it through the same web service.

D. Access the cloud services portal and ensure the ACLs are set correctly for the user community.

Correct Answer: A

QUESTION 2

Which of the following will be the BEST option for an administrator to bring VMs online at a warm site after a natural
disaster has occurred at the primary site?

A. Kick off a full backup
B. Request offsite backup tapes
C. Confirm enterprise tape library is functional D. Verify replication is enabled

Correct Answer: C

QUESTION 3

A new private cloud platform is being deployed by an engineer. SLA requirements state that any clusters should have a
baseline redundancy sufficient to handle the failure of at least two hosts. The engineer records the following metrics
after the deployment:

CPU Utilization |RAM Utilization |NIC Utilizaion |Disk Ultilization
Host 1 90% 10% 80% 50%
Host 2 50% 10% 30% 50%
Host3 [65% 90% 35% 50%
Host 4 65% 90% 25% 50%
Host5 [65% 85% 30% 50%

Which of the following metrics is MOST likely to represent a violation of SLA?
A. RAM utilization

B. NIC utilization
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C. CPU utilization
D. Disk utilization

Correct Answer: D

QUESTION 4

A development team released a new version of an application and wants to deploy it to the cloud environment with a
faster rollback and minimal downtime. Which of the following should the cloud administrator do to achieve this goal?

A. Use a rolling deployment to update all the servers in the PROD cloud environment with the new application. To
switch to the previous version, repeat the process.

B. Deploy the application to the PROD cloud environment and the previous version to QA. To switch to the previous
version, promote the QA environment to PROD.

C. Deploy the application to a subset of servers in the environment and route traffic to these servers. To switch to the
previous version, change the route to the non-updated servers.

D. Deploy the application to a staging environment and force a failover to this environment. To restore the previous
version, create a backup and restore from the previous night\\'s backup.

Correct Answer: A

QUESTION 5

A new cloud infrastructure needs to meet the following requirements:
1.

Resources are accessible to internal and external clients.

2.

Existing hardware assets are utilized.

3.

Security controls are managed by company employees.

Which of the following deployment models BEST fit these requirements?
A. Public cloud using IPS

B. Community cloud with IDS

C. Private cloud with a DMZ

D. Public cloud using PaaS

Correct Answer: B
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